Tt
a T I YL
b HIG- 11. 3
c. fowm m, &9
d. @ur v, T
:ﬂ'&ﬁ‘qmﬁﬁﬁﬁﬁwﬁmsﬂﬁmgﬁﬁ:
(A) a-Lb-TLc-1,d-1V (B) a-1Lb-TIc-1,d-TV
(©) a-NMLb-TV,c-1,d-1I (D) a- IV,b-T,c-Ld-11 7
(B) Faia s
2 «effy - e 3 -G WA 87
(A) FHERE @Bf TR
© fm (D) I
(E) gai@9d
3 *ﬁﬂ%m@nﬂﬁ%ﬂﬁ’sﬁﬁﬁ%%&mﬁm
(& e (B)
(©) TR (D)
(E) i o4

Energy Summit 2024 organized?
(B) New Delhi

(A) Paris
(C) Abu Dhabi (D) London

(E) Question not attempted
ot faraT e 2024 FE syrfera foram maT?

4 Where was the wWorld Future

forg wfass
(a) @) e’
(C) I awEt (D) ©=A
(E) Fguiasd .
5 India- Japan 5 edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Rajasthan (B) Tamil Nadu
(D) Andhra Pradesh

(©0 H imachal Pradesh
(E) Question not attempted
sy ot M T 3 e T R g

T STYF 53T HER U €
(Af T (B) dfErTg
(C) femraer WA (D) &
(E) 949
6 Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A) Manipur (B) Mizoram
(C) Services (D) Goa

(E) Question not attempted

foreafefiara & & wir o dm v 2T (2023-24) i e 7

o ooy i
] @) T~
(B) ol s

S17] s
2 [PT.O
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In India General elections for 18th Lok Sabha were completed in how many phases?

IR 3 | goff wirerarn 3 Fere S0 AT fererr =pori 3 of g2

(A) 6° 7

© 8 Y (D) 4 0

(E)  Question not nucmplegfn.; FHTTG W o - /B=90° and
If it is given that for two ringgi-anglcd triangles PQR and ABC, ZPp =25°, £LC= 25°.h ,Q -

(:_.9-5/

PR = CA, then which of the T6llowing is true? = . pR= CA
i o Ry e & o & AT B PQR W ABCH P = 25°, £C=25% £Q = £B& 90°™
3, A R i e A 27 >
(A) APQR =AACB ' (m/ﬂ.;PQR = ACBA eedii’
(C) APQR = ACAB _ () APQR = ABAC
(E)  Question not attempte@ﬂﬂﬂﬁﬁn‘&r "4 o ‘&f*
S
" If= cosecO =", then ﬁéﬁﬂ is equal to: 3
vy lan@::fﬁ ) “ﬁg =
_x ﬁco-élbrl [”é
aﬁmﬁce—y,ﬁm%;?—i—%wg: E.:j
gy B w v
x ¥o) y
L2 = s w0
(©) = E g; (D) 5 ¥ =t
- (E)  Question not attempteidy 37T 75 @
If a = 0.1069, then the vnIuci‘.rf \!4:2'2 +1—dg+3g Is: i:'_f;
afEa=0.1069, 79 \[4,,2 +l=da+3a T, v
(A) 2.1069 (B) 04655 P
(C) 15345 i ©f 1.1069 H
(E)  Question not attempted/ 3Twita war
Freaferfaa 1 araye Fefeer v - 0
(A) mm@mm@ (B) 3T ey s e E‘;
9% 9% | =1 fam o 1 (D) Wq—daﬁm 5
(E) wHaf@ys -5 0
et 212 o e § ¥ v and 2 ™
«f B) ™
(C) Wl W ) el ™
(E) #gufa gy =j
ﬁm%mﬁwﬁmﬁmﬁaﬁg, 0
why S 0 ), g ;?-,
(C) T i A 3
(B) eRa v i:; 0
5171 gfa ) g 4
™




14 Select the most appropriately matched pair of crops.

(A) Rice - Rahi- Basmati

(C) Rice - Kharif- Shakti

(E)  Question not attempted

R 35 T I o ) ey e T A A G
(A)  =ae - &t - rd

(C) & - @it - yifis

(E) arafa wy

15 Who classified blood in different groups?

(A)  Karl Landsteiner

(C) Robert Koch

(E)  Question not atte mpted
Forert T 1 fafirr it 3 nffary e
(&) el e

(C) T==r

(E) Fgaf@wsy

(B)
(D)

Maize - Rabi - Vijay
Wheat - Rabi- Sonara

A - o - e

(B)

Louis Pasteur
Edward Jenner

(B)
(D)

(B)
(D)

TE TR
LECEE Ty

16 Which of the following antibody is found more in mother’s milk?

Frrftfian 3 & =i 3 g 3 e ar weret (ufeef stfbemar 3 g smr i

(A) IgD
IgM
"(E)  Question not attempted / HTAfa 74

17  Match List-I with List-II:
List-I
(Deficiency disease (name))

(B)
(D)

IgG
IgA

List-IT

(Symptoms of the disease)

I: Memory loss

I.  Weakness in muscles and nerves

L. Appearance of dry scales on tongue and skin
IV.  Bleeding from gums

Tt -11
(T % Tre)
L wfa ¥ e
I A skt 6 e
NI S 7 e o0y sresht oot s 37
IV. WG # W aE

a, Pellagra
b. Beri-Beri
c. Scurvy
d. Riboflavinosis
T -1 gl -1 gafe i
Tt -1
(arquiaT )
a. ST
b, et
c. ~wHAl
d.  TEEmEEIGE
Choose the most appropriate answer from the options given below:
4 faw m forepedt # & watfies svge 3w g
(A) a-ILb-ULc-I,d-IV

(C) a-Lb-l,c-MI,d-1V
(E)  Question not attempted / 31afa vy

S17] ﬁ

(B) a-1V,b-Lc-11,d-1II
!fP}' a-MLb-I,e-1v,d-1

[ P. To 0'
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20
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don19

L] L .S'C
The fourth edition of the ‘Shanghai Cooperation Organization (SCQO) Startup Forum' was organt

March 2024 in )
(A)  New Delhi (B) Moscow
(C) Bishkek (D) Shanghai

(E.} Question not attempted
“STeTS TEemRY T (e i) TSI B T < g 19 I, 2024
9m

ﬁmﬁﬁﬁﬁmﬂ

(&7 feeett (B) wiEH
(C©) fsFw (D) T
(E) wgufmwa
Match List-I with List-11
List-I (Country) List-II (Position of medals tally
in Paris Olympics 2024)
a.  China i. gm
b.  Britain i, 4f
c.  Netherlands iii, 2
d. UsA iv. b
i1 a1 fererrr w11 % @ Hifsg
TET-1 (397 eit-11 (afe atreifoes 2024 i
Trze et T Rufa)
a. HH i dra
b few i, =T
c. [Trawtgw i, gEa
d. JuHT, iv. 9EcT
Choose the nost appropriate option from below:
Forer i & wad I faehed 1 9 il
(A)  a-ii, bei, ceiv, d-iii (B)  a-iii, b-iv, c-ii, d-i
(87 a-i, b-ii, c-iii, d-iv (D) a-iv, b-iii, ¢-i, d-ii

(E) Question not attempted / FaRE o

Who became the second Indian to win a gold medal at the Asian Marathan Championship in 20247
(A)  Srinu Bugatha (B) Man Singh

(C) Gopi T (D) Kartik Kumar

(E) Question not attempted

Ay Aftrrfarg 2024 7 ol Tach Sfie FTe TAC T B 7

() wEFmE ®) e

() T (D) =it FAR

(E) Fuimus

Which country has emerged as the world's second largest praducer of Mobile phones?
(A) Germany (B) India

(C) United States (D) Vietnam

(E) Question not attempted

YT AT 320 G o A W g7 AT W IeTaeh N S I BY

(x§ ST . (B) YW
(© TR ' (D) T
(E) HIARa A

S171 ﬁ 5
! [ P-T,Q
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23

Choose the mMost appropriate reported form of the sentence given:
He said to us, “Don’'t walk on ice: it isn't safe.”
He warned us not to walk on ice as it wasn't safe. o

(B)  He ordered s not o walked on ice as it weren't safe. >
(C) Hetold us b avoid walking on ice as it isn’t safe. llt‘f
(D)  He said ncﬁ;ﬂu walk on ice as its not safe. :;;
(E)  Question net attempted v
Choose the mostappropriate option to fill in the blanks:
I her ™y long time, ___ she was a child. v
knew, x, s?ﬁ'ée (B} have known, for, since
(C)  was knowing, since, since (D)  know, sinceﬁr
(E)  Question gt attempted <!

Read the passage and%iiswer the questions that follow bg;'choosing the appropriate answer : (Q. 24 to 28)

24

Once we have se!r[-l;hd on a perspective, we close off with one line of thotight. Certain kinds of ideas occur to
us, but only thos TIE'cFinds and no others. What if the crippled man who invénited the motorized cart had defined
his problem as, ‘;HPW to occupy my time while lying in bed?” rather th‘&'ﬁ*“How to get out of bed and move
around the housg?, e
Leonardo Da Vipeq believed that to gain knowledge about the form of FﬂbIcms, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing t}kién;gs. He would restructure his problem by looking at #3rom one perspective and move to
another perspeci.i_;.ime and still another. With each move, his understanding would deepen and he would begin
to understand thgf@ssence of the problem. Da Vinci discovered that geuLu_s often comes from finding a new
perspective that fi§'one else has taken. (Ve
Albert Einstein W once asked what the difference was between him andhe average person. He said that if
you asked the av'E?ége person to find a needle in the haystack, the persofi"would stop when he or she found a
needle. He, on tgzolhcr hand, would tear through the entire haystack Iﬁﬁking for all the possible needles.
With creative thinking, one generates as many alternative approaches as one can.
Most of us have been educated to think exclusively which means we thinkhin deficit by focusing our attention
on specific fnfb'i'ﬂation and excluding all else. In these instances, exalilsive thinking leads us to neglect
potentially imporlant pieces of the puzzle. Exclusive thinking docsn'%ercly inhibit irrelevant facts and
perceptions. It cg%alsu smother the imagination, g
Creative thinkingis inclusive thinking. You consider the least obvious a8 ell as the most like ly approaches,
and you look fog-different ways to look at the problem. It is the willingrggs to explore all approaches that is
important, evenlafter one has found a promising one. !
Identify statements which are true with respect to the passage:

a. Our settled pcrs-pe:?tivc towards a problem makes us focus,qn one line of thought only.

b.  Lebfiardo Da Vinci always solved a problem in the first “tLEfl‘Ft 3

c. Albert .Elnslr:-m ‘wouId look for as many alternatives as he £fyld to solve a ﬁmblcm

d. Ex@swe thinking enhances creativity and imagination, =i
Choose the mosf .F'apmprfare answer from the options given below: D
(A) bandconly “rm)” a and ¢ only 7™}
(C) canddoply (D) aand b onlyl™
(E)  Question pqt attempted L

S17] g 6 [P.L.O-
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26

27

28

29

Which of the following statements are not true with respect to the passage?
a. With creative thinking, one generates as many alternative approaches as one can.
b. Exclusive thinking leads us to the important pieces of the puzzle.

Inclusive thinking makes one look for different ways to look at the problem.

4 Exclusive thinking makes us broaden our attention and look for potential alternatives-
e. Creativity and inclusive approach go hand in hand.

Choose the most appropriate answer from the options given below:

(A) banddonly (B) candeonly

{ d and a only (D) aandeonly

(E) Question not attempted

The features that define creative thinking are:
a. Multi dimensional approach
b. Willingness to explore
c. Biased approach
d. Not easily satisfied

Choose the most appropriate answer from the options given below:

(A) b,canddonly 7 a,banddonly

(C) a,canddonly (D) a,bandeconly

(E)  Question not attempted

According to the passage, the most important thing with respect to solving a problem is:

(A) To change our education system (B) willingness to explore all alternatives

(C) To be focused with one line of thought Learn to look for facts

(E) Question not attempted I

Choose the Antonym of the word SURPLUS from the options given:

(A) Inhibit -(B) Biased

(C) Deficit /CBT' Smother

(E) Question not attempted

The ancient name of Jaisalmer was

(A) Mand (B) Hadoti

(C) Shekhawati (D) Vagad
(E) 'Questiun not attempied

Srgerat 1 ST A 91

) T (B) et
(€ dEEA (D) amg

[ PTg




30  Select the incorrect statement about subtropical mountain forests, (Choose the most appropriate option from
below:)
(A)  Subtropical Mountain forests are found only in Mount Abuy region in Rajasthan,
(B) In llu;:fc][brcsts, greencry is available permanently.
() '['stc;tqrcsts can be found in Sirohi which is situated in Rafdsthan
(D)  These fgrests are found only in Rajasthan and Uttar Pradesh -
(E) Qucstfq’ﬁ not attempted i
T Srelfter <t 3w F sveer e e (F= % 4 et 3 e )
(A) ST vt T e TS ¥ oz

3T & 3 T S
(B) Fﬁﬁhﬁﬁm&ﬁw%ﬁaﬂmﬁ% >
(C) %o e 3 Wi s &, i i vrerer #f e 3 v
g»’ T T SHae TSTEST 4T Ia YT 3 10 =

() wmitd

(9]

31  Which of the?%lluwing is the biggest geographical region ( area wisé) of Rajasthan?
(4)  Aravalizegion (B) Westcrﬁ{éescﬂ plain region
(C) Easternplain region (D) Semi d% fegion
(E)  Questior not attempted vrl
mﬁ%mmmwm%(m%mﬁam%?
(A) SR & ufgret wgeurett et &
(C) o dart & (D) ¥y &
(E) siganasd 0
32 Whichof thﬂoiluwing Indian states/union territory has the highestnumber of wildlife sancturies?
(A) WestBengal (B) Andambi)and Nicobar Islands

(C) Lakshadweep (D) Himachal Pradesh
(E) Qu;sténp not attempted \D

Frefafaa {8 wita & form Ta/ds mive seor mmmﬁiﬂmﬂa T §?

(A) fEr e ®f 3fent Ay Freram i wyg
(C) e (D) femmeret w2
(E) wgafgnue

. 10§
33  Which of theHollowing is shorteut command for print in MS Office?,

mm&ﬁﬁﬁﬁz%@ﬁwﬁﬁmmmmy i)
(A) Shift ( Ctrl + pyt
(C) Alt+Cprl +P (D)  Alt+p'0

(E)  Quesfion not attempted / $iafe wor F\l
34 There is certain relationship between the two terms to the lefi of ::‘m}d the same relationship exists ber™"
the two terms to its right. Then find which option would replace t

. - o he question mark?
o ATl Y 912 % WA T e 8 i af andt s A e

; el Wiy , i AT
% & warrat @17 ar fawe 311 g ) a-\,tﬂ:‘ ®, T 9@ ST
GKLP :Qd% « AEFI 22 3
i KLP'-% (B)  MopTsp
(©) MO h W
nggil:!n not attempted / Al uy DKot i

(®)
S17] ﬁ. v 8 e

v [PT.0-



35  Choose the box that is similar tojthe box formed from the given sheet of paper.
T < A gt () | A ST 6 =E ifem)

7 L0y

Vi 2

o

v

& =

E=1

O
@ e
Choose the appropriate option gl;;{r}n below:
1 f g s ferehea 1T WO

~ 4 ®
o |
© [ = ﬁ @y | # @
(E) Question not aﬁemptedfléﬁﬂﬁﬂ‘?ﬁ _
36 ﬁn%f@aﬁmwmm. . b/
a) # ., ® 2
(€ = vl (D) &
(E) HMd 94
37  Trefafaa i snfaares g9 T &0
(a) faEm :g rB(wTa
) i o ®) =f
(E) aRawd o)
38 gAL1F G ﬁgﬁ%ﬁﬁrﬁt{j
T .4 i
(@) (fmam)
o wiE@ah O L g b
b, e g Bl Ts I S femar
c.  favees feramedf & forefiet gaTar 81 . e R
d. 98 TgH ¥ J9l :-01 V. wHa forar
= forapedt i & warifirn g I
ﬂx? a-1V,b-M,c-1,d-11 ¥ (B) a-1V,b-lLc-1,d-1
(© a-LLb-1V,c-1,d-1I (D) a-1Lb-Le-1L,d-1V
(B) IR s

S17) i ’

17164546 17164546 17164546
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40

41

42

Take the given statements 1o be true, even if they seem to be at variance from commaonly known facts, Then
decide which of the given conelusion logically follows from the given statements:
Statements: No magazine is newspaper.
Some newspapers are books.
All books are spoons.
Conclusions:
L. Some magazines are books,
1. Some hewspapers are spoons,
(A)  Only conclusion 11 follows,
(B) Both conclusions | and |1 follows,
(C)  Neither conclusion [ nor conclusion II follows,
(D)  Only conelusion | follows.
(E)  Question not attempted
&qmmﬁaﬁmnﬁwﬁaﬁm; T AT & Srhir vd Sireh @, 7 <0t o o e & e et
Tret = fof &
YA

Tt gk T ) o
Fred:
L. %o e yeas §)
II. 5 9991 - 93 9wy §)
M%ﬁﬁﬂﬁﬂﬂf{mﬁm%p (B) 3l o 1w 11 gy e )
(©) ﬁﬁﬁﬁs@laﬂtw’rﬁm&rmmw%r (D) et Fread 1 arqror amar &)
(E) squfaws
ﬁw%%aﬁﬁ-m-m'mwwmaﬁ. b/
(A) =9H - &2 ( A& - FHA
(C) a9z -wrft (D) Teft - wrET
(E) srmiaws
Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since
(A)  April 2021 (B) May 2021
(C)  June 2021 (D)  March 202
(E)  Question not attempted
A FTAT WA A S o & e ud
A7 e 2021 (B) wé 202
(C) 372021 (D) w202

(E)  srqafe ag

BHADLA SOLAR PARK is located in:

(A)  Jodhpur (B)  Udaipur

(C)  Bikaner (D) Jaipur :
(E)  Question not attempted

WEH Wt grd; aroed = & 160 T 1 frgm By

5

(A) (n)
@ (D) sy
(E) ryfea wa

.T.0.
S17] ﬁ 10 [P.T.
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44

45

46

47

. ; . 2 ning
As cited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the plan

and strategy of wars, lived in was called as — (Choose the most appropriate nptinn_;_irnm below:)

S

(A) SanyaDurg O (B)  Parikh Durg gt
(C) Paaridh Durg h (D)  Sahay Durg |E 1!
(E)  Question not attemple 1 i
Srar fof oA mﬁﬁﬁr}iaﬁm%mmmaﬁmwgﬁ oy 2T uTWamﬁﬁWW
o & 3w s - (P @ e g e ) [
«f = i = ) it gt -
©) > (D) wEr gl

(E) a9 8
People of which Civilizat {dd buried their dead with jewellery and ormnaments?  f
(A) Kalibangan 3 (B) Ahad ]
(C) Bagor ﬁ (D)  Gilund &F
(E)  Question not attempted mi

Fﬁ{mﬁ?ﬁﬂmﬁq’aﬁﬁlﬁwﬁ%wmﬂﬁﬁ?

S . fo o -
Oy i e ) s

(E) 37afa 9a o
Karpur Chand Kulish waslige founder of which newspaper? gl
(A) Punjab Kesari E (B) Rajasthan Kesari lf; J.
(C) Rajasthan Patrika et (D) Dainik Jagran '.D
(E) Question not attempféd el
2 e (e AT & e A7 e
(A) demER s (B) TS FHEl d
©) wEmdEE pf 2w ST

(E) 31?11:&1 Bt | o
The spread of which revoldtion enabled India to achieve self sufficiency in food oriiins?
(A) Yellow Rcvoluliung (B) Blue Revolution E?
(C) White Revolution et (D) Green Revolution {}5:
(E) , Question not attempted l‘:l
Faey et 35 TR A W G ST ST R i T g 2 I
(A) el 5 @) el swif »
() = FHifd r4 g ehawfa

(F) #Farand 0
Planning Commission wu%}:t ‘up under the Chairmanship of- Ea
(A) President T (3)  Vice Mresident Ep
(C) Chief Minister  «f (D) Prime Minister ‘g
(E) Question not attempldd e
qhmmfmiﬁrmwmﬁmtﬁwmamﬂ?ﬁﬂitﬂ? e
(A) Trzafd rs (13) vy v

() TE e JLOBRIELE

~E ﬁ . l PTo,

10



48  To protect goods produced in India from imports, Government made use of-
(A) Tariffs (B)  Both Quotas and Tariffs
(C)  Neither Quotas nor Tariffs (D) Quotas
(E) Question not attempted

Wﬁﬁﬁﬂaﬁﬁﬁmﬁﬁﬁ%mmﬁﬁmwmm

(A;Jﬁ hq{z FreT 3T ‘{LF\'FE;HT
O A Fher 7y (D) =
(E) i v
49 Thewa Art is associated with which of the following areas of Rajasthan?
(A)  Jaipur (B) Pratapgarh
(C)  Thalawar (D)  Churu
(E)  Question not atte mpted
TSTeT 3 Sar e Foey f & oy der iy
(A) SR # s
(C) wEEE (D) &
(E) Igaf@wuy
S0 “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Madhya Pradesh and Gujarat (B) Rajasthan and Gujarat
(C) Madhya Pradesh and Punjab (D) Rajasthan and Madhya Pradesh

(E)  Question not attempted

R sttt e feEir P 84 v e ot @ e s

(A) qwn%ﬂaﬂtm TTET 3 et
(©) e s s @ T s/
(E) STl sy

51  Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .
Statement (IT): This soil contains enough quantity of Nitrogen but lacks in Potash and Tron.

In light of the above statements,choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are false.
(B) Statement (1) is true but Statement (I1) is false.
(C) Statement () is false but Statement (TT) is true.

(D) Both Statement (I) and Statement (II) are true.

(E)  Question not attempted

9 g e e U E
T - | ; TG o TTCAT & fareft weverely e i ard st 2

oo - 11 ; 5 il 5 AT TR A & €l & e e s i e oy et Bt 2y
mm#ﬁﬁﬁqﬁﬁaﬂﬁaﬁq’fﬁﬁmmm?ﬁ:

(KT e 1 i 1T e ) (B) e 1wt & g oo 11 e &
(C) Ty 1 e & o o 11w (D) % 1 3 s 11 2 et #

(E) orgafasd
S17) iy 12

11

{ETD.
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55

S17] ¥ 13
' [Prq

“Namecha Barwa Peak” is located in which of the following regions of the Himalayas?

(A)  The Arunachal Himalayas (B) The Himachal and Uttarakhand Himalay®>
(©)  Kashmir Himalayas (D) The Darjeeling and Sikkim Himalayas

(E) Question not attempted

cquy T e feaea & Fafataa 78 feg & 1 oafer 22

(A)  srevmTee femrer (y” ferae 3 I fimrea
(C) =it femrer | (D)  =fifei i faferrm femrea
(E) quiawd

: Al : : t
“Pangong Tso” lake is situated in which of the following sub divisions of the Himalayas? (Choos€ the Mo

appropriate option from below:)

(A) Darjiling and Sikkim Himalayas

(B) Arunachal Himalayas

(C) Kashmir/Ladakh or Northwestern Himalayas
(D) Himachal and Uttarakhand Himalayas

(E) Question not attempted

ST et st femer 3 Frerferfian 5 @ e e 3 wrd ol &7 (et 8 & W 3T fed =)

sy arfsifer o Rrfierm femmea (B) aTeuTEe feamed
(C) =i/ wrgrE A IuT aiET e (D) T oik swEs femrer
(E) aia v

Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from

below:)
(A) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights,

(B) To visit jails and study the living condition of inmates.

(C) To spread human rights literacy among the people.

(D) To undertake and promote research in the field of Human Rights.

(E) Question not attempted : :

e TR ST A e A &7 (Pt § & wed ST faer i)
A v 3 o e AT e 6 T Y BT

(B) ST & Ry FHET aﬂr%ﬁﬁeﬁrsﬁﬂﬂwﬁrmmm|

(C) it ¥ oy WETieR HIERAT <6 SR T

(D) TR 3 S 3 ST e SR A <

(E) uiaqd
By which Indian Constitutional Amendment the *‘Gram Sabha’ has been given a Constitutiong) Staty
A 734 (B) 74" §?
&y 7o (D) 72
(E) Question not attempted

734t (B) 74af
(C) 75at (D) 724t

(E) e wa

12
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39

60

Which of th‘é‘-f‘ullcwing words has been added to the Preamble by the 42 Constitutional Amendment?
(A) Equalily (B) Integrity ‘&
(C) Fratrl:n'ty (D)  Liberty ' :E'l'
(E) Qucshpn not attempted 4 i
Freferfias Bt = an v 423 st s g e ﬂ?ri’l?;-ﬂw?'?
(A) AT ) H@Edl .
(©) g (D) T [
(E) S7qafE wx -
Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from belovsy Ly
(A)  Not'aying minimum wages to workers (B) Banning lhéiusc of loudspeaker after 9 pm
(©) Deli:\“-'—é:ring a speech (D) Banning df tobacco products
(E)  Question not attempted o
;?a 38 s e o i R (Rt e v e )
AT HSET S A T HAT (B) mgaﬁ%mmmmm
(©) s 3 (D) mwamﬁpmﬁfwm
(E) ¥eiE =
The Preamble of the Indian Constitution starts with the phrase L
(A) Withfthe name of God..... (B) India a Sovereign, socialist.....
(C) To Secure all citizen of India..... (D) “We the people of India™.....
(E) Quer:s%n not attempted :'3'
WA § ?ﬁmﬁﬁﬁmﬁﬂﬁﬁ?ﬁ.ﬂ? "3
(A) TFIEEE... (B)  TREl U WY, WHISATAY....
(C) =ma 3 weft Amifnt o ga..... @ EmET@ ..
(E) ia o=t
In 1983, lich of the following Commission/Committee was apppijtcd by the Central Government to
examine anugfc'.riew the Centre-State relations in all spheres and recommend appropriate changes?
(A) Sarkatia Commission (B) RajamannprCommittee
(C) AshbK!Mehta Commission (D) Hanumanthiffiya Commission
(E) Qucsﬁbn not attempted \O
1933 i mh‘ﬁqﬁqh.mmzﬁm i welte w0y sﬂtﬁ#ﬂ#ﬁﬁﬁﬁmﬁmﬁ%ﬁﬁﬁﬁqm
i e v 1 fgfes 1 e
(B) USSR Hfﬁf’?r
(©) ;:gm A (D) B S
(E) _

E
Chairman o{}RﬂJasthan Public Service Commission is appointed by \ﬂ?’;ch one of the following?
(A) " Govkior (13)  Chief Justigg of High Court

(€)  Chairmhan UPSC (D) Chief Midigter
() Quekifon not attempted

|
TISIEATA i, dya s & e d frgfen frafefia i @ fam & g Sromd &
X T (B) = =TTy & e ATt
(©) st 7 dr ga (D) yEE
(E)  sryufea wd

S17] ﬁ‘ 14

[ P.T.O.
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61

62

63

Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?

(Choose the most appropriate option from below:)
(A) Malvi

(C) Bhili

(E) Question not attempted

e o e, S SR HTEETS & oY sl 9 i &

(B)
(D)

[adoti
Wagadi

(o & e 3 fored ) na/
(A) Wl EAGl
(©) et (D) =T
(E) gt o
In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Songs (B) Folk Dances
(C) Playing Instruments (D) Folk Dramas
(E) Question not attempted
e, Aiftaer 3 vt T & |
(A" it i (B) WHIH
(C) dmER (D) i AEH
(E) Fguita e
Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Gogaji (B) Pabuji
(C) Devnarayan ji (D) Ramdevji
(E) Question not attempted
3 50w I TS S U ey o w9 6 AT BT Faar F w0 o 9 82
(Y TSt (B) "
(C) FaArEwT S (D) THEE S
(E) Hai@yd
Where is marble dumping yard in Rajasthan?
(A) . Bundi . (B) Kumbhalgarh
(C) Bikaner (D)  Kishangarh
(E) Question not attempted
TeTEdT i AT et ard Fel 87
(A) o=t (B)  Frierrg
(€) dFr 4y g
(E) ergafd 9
Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:
(A) 11 October 2022 (B) 15 November 2023
(C) 19 December 2023 (D) 12 December 2021
(E) Question not attempted
mﬁmmwmmmﬁwmﬁmwg?
(A) 11 2022 (B) _ 15=9T 2023
©) 19 f%.';a'wtm?mzozs («B( 12 R 2021
(E) rafe v

$17) ,ﬁ 15
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66 ¥ TR A e wipifes @ ol 2-
(z;’&i REESES
(Q)y a2 aftad sy
(B 3Tqaf wsy
67 Wﬁﬁmﬁﬁaﬁm#‘rmmﬁ-
(&) ey

(& wErm
(B et ws

68 A ray of light is incident on a
reflection are
(A 90° 0° respectively
@y 0°0° respectively
{ﬁ Question not attempted

U HAS 20T ST o O R sweht v 3 atfirers

/Eg}w: 90°, g°
) S 0°, 0°

(E) wrafa vy

0

(D) FEjEm™
5
|

(B) sffar

(D) @t

plane mirror normal to its surface. The angle of incidence and the angle of

l"_q{
(B)  01£90° respectively
(D) 90%'90° respectively
O

§ Bt 1 36 A19a Fo7 31T garEdT For 27
(B) - 0°, 90°
(D) T 90°, 90°

. g ; L
69  Two identical prisms P, and P, are placed as shown in the ﬁé,]jre A narrow beam of white light is incident
0 Ilass prism Py as shown in the figure. The emergent beamﬂ_t;rcm the prism P, falls on the second prism P,.
Tﬂ resulting emergent beam from prism P, on the screen coQ‘Itgins:

Screen

&
L
~
4

jle
(ﬁ)) Spectrum of light as VIBGYOR. form bottom to top on\.slpf: screen

(E&; Beam of white light on the screen
(@) No light is obtained on the screen

L
¥

(DY Spectrum of light as VIBGYOR form top to bottom on'the screen

{EP Question not attempted

ety firew P, 3 P, F1 50 @t v ST & Shar foow i Rty v 21w g e e o

i
e s S

?P.mwﬁﬂﬁqmm%éﬁﬁﬁﬁﬁaﬂﬁmw% fii B, 8 i ot e p, e et 3 v

aftoet farorgst St O T et @ i g 8-
Py

Screen

i
(A) e o A A FL, T F AT VIBGYOR ¥ w9

(BY e et s 7 fer
(C) T T IS WeRTaT AEl gg

6

<
L
ot
pLe)
4
h
r

D) T IR A, S w5 S VIBGYOR ¥ s it

(E) argafa 94

S17] ﬁ
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70  The angles of elevationigf the top of a tower from two points A and B at dnqtqﬂcc pand q respectl\-'clb"

L

from

the base of tower and imthe same straight line with it are complimentary. The, h'l!lghl of the tower is:

e e 2 A A s, mqn#mﬁmﬁﬁtﬁqupaqaﬁﬂ% g e 6 7

& I 10T e @) HAT ht Seerd

4
@w Vra [~ : B)  (pg)?
or plq el ® P4

(E)  Question not attempted / 3¥aRE W

16

l_(__'l
-
r~
-

71 If the lengths of diagunafd of two squares are in the ratio 4:7, then the ratio of their areas is: x
(A)  16:49 ,'jl M 343 i i 3
© 21 W 4:7 ké 9 93
(E)  Question not attempted / STTAHT w4 t‘i'} % - %
72 Select the incorrectly niatched pair of biosphere reserve and its region. ;‘*ﬂ: X
(A)  Thar Desert - Raj‘e'c"s'than (B) Kanha - Madhya Pradesh, Uttar Pradesh
(C) Manas - Assam (D) Nilgiri - Karnataka, Kerala
{E) Question not attethpted i i3
ﬁaEf?r%lT wﬁiéﬂ % AN SIS 1 T F b/ <f
( FTET-HET 2, aﬁt‘?r%ﬂ
- aa'a':r D) Frerfirt-aiee, éa—&rj
(E} A v r==l . gl
73 Select the incorrect statérmient about the genetic code. -~
(A) 61 codons code 5 amino acida. i
(B) UUU code for phenylalanine, :
(C) AUG only acts a%pluator codon and has no other function. \Le)
(D)  The codon is tripjet, E
(E) Question not attempted wp
AT g2 (e H1E) & ai # e Fo I (s
(A) 61 ﬁmq&nﬁﬁra#aﬁésfaqaﬂéﬁaﬂmﬁi el
(B) UUU %ﬁmﬁ:r feru T T 8l -
(C) AUG Faa ﬁﬁ#wﬁﬂwﬁlmmﬁm?ﬁﬁ"
(D) =rEH feuere (FraRyEem 21 O
(E) wrmitaag < !
M Which of the fol]umn;,m;'th.nou:s base is not a component of DNA? Tg]
(A) Cytosine ‘.D (B)  Adenine g
(C) Guanine gl (D)  Uracil vl
(E)  Question not attenpted r~
Frvafrfias 3 & i aT AT S (4Te) O O e T i
(A) @R _ - (B) wEHE
(©) ‘ @y giftrer
& (E) <rgafaw=
17 17
I ﬁ I P'T.D



75  Whatis “Fly in” in MS power point?

(A)  Page design (B)  Animation effect
(C)  System command (D)  Colour scheme
(E)  Question not attempted

T O T T8 3 oer (Fly) 37

(A) ¥ femme {71'/ UEEHES T
(C) o=z (D) e ehy

(E) rfafmwsy

76  Which of the following statements is NOT true about floppy disk?

(A) Datacan only be read or write when write protect notch
(B)  Floppy disks are made up of Mylar Plastic.
(C)  Mylar Plastic surface is coated with iron oxide (magnetic substance).
(D) Only 1.44 MB can be stored in some versions.

Question not attempted

(E
—\_:?ﬂ%ﬁﬁmﬁﬁﬁm%ﬁaaﬁ#aﬁqmmwﬁ%?

is closed or covered,

)
) %ﬁmwwmﬁwmm%mwmﬁaﬁzmmwﬁ
ATt feh wrger e @ w B )
(@), e s e e siawTes (e vy & A i
TS T H e 1,44 TS B Hdia Fpam s wear 21

(E) 3rgeifcer wsr
77 Ethanoic acid reacts with carbonates to form -
(A) Salt, carbon dioxide and water only (B)  Salt, ethane and water only
(C) salt and water only (D)  Salt,nitrogen dioxide and water only

(E)  Question not attempted
W3 STt hraiel % TTY ST F0F ST e -
(A) et TV, FEA EEATFEE I A (B) ae v, U 3T e

(©) e SRS (BY~ et T, e TS i
(E) syfuia v
78  The property of carbon which is responsible for the formation of long chains is called:
(A) Sublimation (B) Carbonation
(C) Hydrogenation (D) Catenation

(E)  Question not attempted

Tl a7 g 10T S @t AEed @ 3 for Seer 8, Feem &

(A) Fedara (FeciHe) (B) eI ,

(C) grggraAfaror DY~ FHF (shaem)

(E) Hgaf@ud ‘ ‘ |
79 Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 milliampere current. The time

required to liberate 0.02 mol of hydrogen gas at the cathode is :

T Srefra NaCl fareram 1 fargm-siaae 20 fireft ufvae ar warfeer sk fr el e g i 3 0.02

ﬁaﬁﬁmmﬁ%mwﬁmmm%-
(A) 2895 10's (B) 193x% 10
(C) 38.6x10%s (D) 9.65x= 10%s

(E)  Question not attempted / 3T{afta v

S17] ﬁ 18 [P.T.O.

17



80 -q%gqm#ﬁ{w?aamm%ﬁﬂqﬁm%.
(A) FIH ' @)
(C) i 1) (D) Eﬁm,./’ Tr
(E) STaia A *.s' '

81 ?ﬁaﬁﬁmaﬁﬁgyw% - "F:
(B) =geht

(Dy faomo

rE) ﬂ?ﬁﬁﬂﬂ ot
g7 TS I TETAET AE S A -

(A) 3THE - I 1;; (B) - wEHT 7w

(@ A - FAE (D) =W - =

() qaRawy D ol
83 wﬁwﬁmw*vahd%rmﬁd’raﬁ%

(A) FA ?-: (B) , 39 v
© g farfersrear id
() wgafmyy D
#4 Choose the most app%riare English translation of the given sentence W
w5 foarar wt wTEt? wp =t
(A) The book was hﬁm by Rudra why? (B) Why tear the book, Rﬂl__é’(;a?
Why did Rudr%: tear the book? (D) Why the book was toﬁf-_'?y Rudra?
(E)  Question not attempted ;’_:':
85 Choose the most appropriate option to fill in the blanks: :,.,!
Do you know Y2 in London? Yes, my friend Arun lives near London. But in case he is
out of town, I will haEr;']'___ to go. £y
anyone, nowher:g. nothing ~ (B) anybody, Sﬁme‘-'-'here,fﬁﬁwhere
(C) nobody, anywhére, something (D) someone, x, Sﬂmew}"g.{"?
(E) Question not a 'El'nptcd ;i iy
8 Choose the most app;%,.,-ﬂ,e option to complete the sentence. i;:{ _

In an official letter the ‘subject” is —————___(35/ ; i
T brief, clear and relevant

(C) vague and pl'ﬂ(i?;': (D) as long as possible

(E)  Question not atigmpted

Choose the most apprapriate word to complete the given sentence:
the streets after sunset.

87
'was advised not to Ifg:i‘fcr A—
&P‘ for v ig/wdh
ﬁ(’ - about
(E) " Question not attempted °

817 19
ﬁ [Prq

171645468

L_ - T = ——
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88  Match List- wity List-IT
List-1 List-II
4 Munich is a large city the south of Germany. L at
. Were there many people the concert on Friday? 1I. during
c. We shouldn’t speak eating. III. in
d. We didn't speak the meal. IV. while
Choose the moge appropriate answer from the options given below:
(A) a-ILb-1V,c-11,d-1 (B) a-Lb-Ilc-II,d-IV
© a-IVb-lme.m 4.1 O a-lLb-Le-1v,d-11
(E)  Question not attempted
89

Choose the word closest in meaning to the underlined word:

People thronged to pay homage to the departed leader.
(A) obedience ('B‘/tn'bute

(C) alienation (D) humility
(E)  Question not attempted

90 Choose the word which js similar
(A) offensive

abandon

in meaning to RELINQUISH
(B) persist

(D) residue
(E)  Question not attempted

91  When the minute hand covers a distance of 1 hr 25 min, then what is the angular distance covered by it?

i ﬁgﬁlﬁaasﬁwﬁaﬁmﬁ%ﬁﬂ%mmaﬁ#ﬁaﬁvﬁwﬁwm
510° (B) 480°

(C) 450° (D) 375°

(E)  Question not attempted / T w5

92  If ‘MEDICAL'’ is written as ‘DEMILAC” in a certain code language, then how is ‘COMPILE’ written in th:

code?
a3 ‘MEDICAL’ %I T %18 W91 # ‘DEMILAC’ fivar simar 2, it ‘COMPILE’ % 38 Tz & 33 f
@) MECQE (B) OMCPILE y
¢4y MOCPELI (D) MOCPELO
(E) Question not attempted / ¥Fefa w3
I __I I . & " ¥ s
93 Ifthe series S=1+ = + T +———] vy, *..ueeey then sum of its infinite terms is:

o ot § =1+t —i—.......,aa&uﬁ%mqéimu‘m%:

[ — +
1+2 14243 142+3+4

e ® 3

|

Dy 3

© 2 2
(E) Question not attempted / 37wl wer MaQ C P.E UL

S17] s 20 [ P.T.0-
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04

95

97

9

P
Spp ) SR .
TIﬁ 21 ?ﬁls
G

c =

rs‘.;-o 6o )%‘ 50

e B -
s 0 5:6. FiP

. 5 5 fio 0 ’

Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers ar¢ in rafl

the ratio of numbers, if 2 is subtracted from each number. g‘fﬁﬁ?ﬁﬂrﬁ
a‘rti@ﬁﬂ:!ﬁa?aﬂﬂmﬁ?lﬂﬁmﬁ gsﬁg—rm@,#mww 5:6 g"[:ﬁ'raT%I afZ

2 27T ST A1 HEATHT T ST Fa15Y gﬁ%

(A) 14 (B) 4:5 ! o X3
(O—T8:25 (D) 23

(E) Question not at‘tempted / AR v

; e nt ?
A shopkeeper bought 6 articles for T 5 and sold them at 4 articles for ¥ 6. Then what 15 his gaimn perce

foelt THTETCA 6 FEQUR S H e T2 T 6 8 4 i hlmmmmmﬁwm.
fA} 65% ( 72% ; 60. _.-é-""
C) 80% =7
(© ¥ (D) 29% 4 &
(E)  Question not attempted / S %31 0 .8‘ “'
The point A (13, 18), B (-5, 10), C (-13, -8) and D (5, 0) taken in that order are the verticesofa - Mm
(A) Trapezium (B) Square &
(C) Rhombus - (D) Rectangle

(E)  Question not attempted -

g A (13,18), B (-5, 10), C (13, -8) TE D (5, 0) Fr i A A Sy W EiC |

(A) HHee agds ®) i = 6‘
(@ wrpi (D) @PE |

(B) st va &

Total surface area of cube is numerically equal to the volume of the cube, then find the dia

’ gonal of

(A)  6/3 units (B) 5 units OQE‘MU
(C) 243 units (D) 6 units

(E)  Question not attempted
Eﬁﬂqmﬁqﬁhmwé@ﬁmmwm%m%w&ﬁwmwmﬁﬁm

(&) 63 718 B) 33

& 245 v ©) 6

(E) ergmfta s

Four players A, B, C and D are standing in a field in such a way that B ig 10 East of A

A and D is to North of A. D is standing in which direction of B? » 1S 10 the Souty, -
(A)  North (B)  North-West

(C)  South (D) West

(E) " Question not attempted

T fgendi A, p, cudp A FAeE i maE AW E AT wWH B A

oy 3
#B % farr for #f D wer 27 Caﬂtﬂ%aﬁtﬁ
GV (B) Swfem Dy

© afiy By i

LY

l P‘T.Q
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99  Find the number of triangles in the given figures:

A 11 et f Frei chl HEAT TR,
&t =Ir:'_
et
Ty
w4 1

(A) 15 2 ®) 17

< 14 lr:l_ (D) 13

(E}  Question not 1‘:ll_l!-:1‘npter.‘. { Gﬂ?rﬁauer

100  Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan? &

(A) Jaipur O (B) Sikar ]“

(€) Churu (D) Bhilwara

(E) Question not ?:mp’rcd
% FHETH AT T SR U 3 o T | i € =
(&) O (B) et f

© T® n @f e 4
® ometaws

101 Who can remove thréinvemur of a State? (Choose the most appropriate opuun from below:)
(A) Chief Minister (B) President i'
(C) Prime Minist% (D) * Chief Justice of l'qi;lia
(E) Question not ﬂtsernpted i
T4 % TSI i e ashar 22 (Frefefay § & =@ e )
() FewEs O .EBEF’ g <
() vwurmsi (D) A & Ha =rartar
(B) waf@ws b
102 On 2 Ocmber 195-9I who inaugurated the modern three tier system offPanchayati Raj in the Nagour
(Rajasthan). 5
(A) Mahatma Gatidhi (B) Jawahar Lal Nehfn
(C) Sarojini Nai:iﬁ]; (D) Lal Bahadur Shéﬁn’
(E) Question not atiempted
o 2 e, lgsaﬁqmgmwmﬁwmwﬁmgﬁmﬁﬁmwg?ﬁmm%mw
(A) WEmET T «BY e AR AT e
(C) wifert amg ™ (D) Tt STETET Tt
(E) srmafawa \e
103 The idea of “Welfare State' in the Indian Constitution is enshrined in its <
(A) Fundamental Rights (B) Preamble :
(C)  Seventh Schedule (D) Directive ['rincip:lgs of State Policy
(E)  Question not afempled pd
T e v v g fare #fafewd I~
(A)  wifees sifaem T (B) e 4
(©) 7eft s r‘ By T B e R

{E) aﬁﬂﬁﬂw

it ﬁ a2 [ P.T.O.
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104

105

what is Himalayan yew (Taxus Wallichiana)?

(A) Atype of soil which is found in Himalayan region

B) A folk song of Himachal Pradesh

© A Medicinal tree

(D) Atype of Tribe

(E) Question not attempted

femTera (S Tferi<ramT) T &7
gy it 6T O SRR S et e e g (B) femrrer waw &7 us @19
ORRSALEEE G (D) Swifes 61 T W

(E) HIar@w" : _

The river of Rajasthan that drains into Arabian Sea is.

() Banes (B) Chambal
(C) Kantali (D) Luni
(E}  Question not attempted

T i 7 T i o v H e

(A) =T (B) ==
(C) idelt Dy

(E) 3Fuia o4

Which one of the following rivers flows in a rift-valley?

(A) The Narmada (B) The Ravi

(C) The Gandak (D) The Yamuna
(E) Question not attempted

Fraferfias o & i ot 73 finforard et &

(A) ®)

€ Tew By =

(E) srafawa

Choose the most appropriate option to fill in the blank:
Aditi has been working here .
(&) six months ago (B) six months before

o i icitics N since six months

E) " Question not attempted

Choose the most appropriate passive form of the word: *declare” to fill in the blank.
The old houses i town unsafe b}" the nuthorities,

(A) " are declaring have been declareq

© decki (D) declared

®)  Question not attempted

Choose the most appropriate option 1o fill int
~—___postman’s little boy said that he’d rath
bec&us.:

' : ight,
dentists don't get called out at n \ |
R — 4SS A the, the, a, x o

(D) X a,a,aq,the

he blanks:

er be dentisy than

23
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o
3,1 . !
< Lumbers 24, 34, '-46. 43&% +1,4x+3, 105, 110, 114, 123 are written in ascending order and the Meg
1 . 77, The yalue ofx1s: |y iy
1 = §
o 24,34 46, 4%8,% +1,4x+3,105,110, 114, 123 Fr a3 75 {mﬂgﬁﬁ%@m%aﬁ{a
,%.j ﬁi x Eﬂ- m 3 4 e 1N
mfeaat 77 . /(»ﬂ(;r_s i ol
(A) 22 [ [~
) 30 v (D) 20 o
(E) Question not attempted / aqaﬁﬁamr
{11 There is 50% increas in an amount of money in 5 years, at simple interest. What will be the compot
interest on ¥ 15,000 after 3 years at the same rate? 1_'!“
el iy Y ST ATCOT ST o STt &, 3w § s o 5096 < afi Edr 1 3wt 7 A 2 15,000 A A
3 o wRafE = R :.1*-
(A) T 4,800 ‘ﬁ (B) T 4,900 "j*
7 4,965 (D) T 4,960 [
(E) Question not attemp sgtl / aﬁﬂf{ﬁ' e vl
112 To boost economy and getting State Government approvals Rajasthan Micro, Small and Medium Enterpri
(Facilitation of Estahlishme{&and Enforcement Amendment Act, 2023) has increased the period of exempti
to MSME from: ! <
(A) 2yearstodyears L} " +(B) 4 vyearsto 5 years E;
(C) 3yearstoSyears (D) 3 years to 4 years o
(E) Question not attempte =
e F aET 3 3fi T T A Het o 3 foTn TereT e, @i S He Iud (EATIAT 3 Jadd
= i A
gartiemtoT Hae sififem, 2023)F @ wE a § (MSME) #1 g2 it smaf wqr di v+
(A) 28474 (B) 4¥s5Td
Y
(€ 3ds5ad T 9;;{ 3g4ad :’i:
(E) raieayy =t L)
113 The Rajasthan Panchayti R!&_']"]Act (RPRA) came into force from: it
(A)  April 1992 < (B) January 1992 s
(C)  April 1994 ol (D) January 1994 i
(E)  Question not attempted lq"i
i "
TSEAT YaTdl T sifirforeny-(orredtem) AT A
(A) =18 1992 (B) &l 1992 e
M 10 1994 w . (D) S 1994 et
() sqafawg - LN
114 : g )
:nAtc;,ratcd circuits (1Cs) aregelated to which generation of computers? g
) Second Generatjon () (B) Third Generation el
(©) Fourth Generation +4 (D) First Generation f
(E} Question noy Ellcmp!:' |
W2 (ICs) forgy srrs 35 spreager e 87
(A) i s AR
(B T&
RERE (D) WUH SHEH
S1 Vg’ O fo/s 1 0
7] —) €O ) .T.
ﬁ 24 | oo ) € (LI [P
; lo |1 )
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1 i::c:rrrorml"l‘i”“'J
115 which of the following is lfic transistor's capacity of the first microprocessor pro dJueed bY Inte
reaferfi 0 Y g Frr R e e ft izt sy 27
@) 1800 ) 2300
© 2700 (D) 1700
(E) Question idtattempted / STl w21 e
wff
116 which of the t‘ollln‘\;,'mg command of excel will take you to the next wdfkbook window?
e BT SRS ST SR o B e ©
(A) Ctrl +Page Up (B) Ctrl +Shift +-6 / Tab
(C) Ctrl+F6/Tab (DY F6/ Shift +Eﬁ.
(E) Question rﬁ:’:'t’altempled | SgafE ¥
. ight
117 Some girlsare slf;nding in a queue. If Kavita who is 11% from the left end-and Babita who 1S 9th from the Ng
end interchange \L@air positions, Kavita becomes 15t from the left eFd. How many girls are there in the
queue? <
- I - l " s . T
s st v oy et 81 o e 1 e e s e i e & o v s e
1 7T aee TS A wfear SR 159 T w3 SdlE wﬁﬁgﬁfﬁmﬁaﬁ%’”
w/ 23 l; 25 * ol
€ 27 D) 21
(E) Question ngtattempted / 3T %4 3
118 Some students arﬁ_jﬂtanding in a row facing in same direction. If the pogition of John from left is 32 and from
right is 15, then how many students are there in the row? = .
@ﬁmﬁmﬁﬁsﬁ@ﬁﬁmﬁg@m@% qﬁﬁﬁ?mmmﬁ%% 3291 B AU Al A 1597 2 oy
& e e e 82 ™ \
. Pl i B
(A) 47 1 46 ] I' C‘l
€) 48 (D) 45 © &
(E)  Question r}é?h attempted / ST T4 = X
19 P is the son of Ry(R and Q are sisters; Z is the mother of Q and M is !gt} son of Z. Which of the follow;
statement is true] ) W0 Wing
(A) Misthe maternal uncle of P. (B) RandM ard Ststers,
(€)  Qis the glandmother of P. (D) M and P argcpusins,
(E) " Question not attempted
P,R %lRtﬁ‘;paﬁﬁﬁ:z,QﬂmﬂfiﬁﬁmM.ZW?ilﬁﬂ%ﬂ‘ﬁ%iﬁq_mm_ 3,
M, P & TR B) RGM )%
© o rerergrit (D) M3t P R C oy
g (E) Wﬂgéﬂ et g "B‘I
ke ™
. e ™
;T‘O
B
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nt in context of Bhj) Rajasthqy and Goy;
t stateme dthe g
he incorree in Hinduism he started the oy
L0 them
Selec
120

Ind Gy
OVemeny,
TokeeP ers felt that the objective of this 54 ial reform
(A) The B[itlshf_a Bhil State.
I:E] ation 0
form

d monthly meetings of Samp Sabhg o
anise
He ofg

W
the Managa, Hill
: | and moral upliftment of the By °f Rajasthgp, Govind Gyp, Established th Samp g,
Fors atempted .
E]]:); Queﬁggﬁﬁg e o e 7 srey W:TEW‘W-TE%I

*

(A)

o

@ ST TS % gR wreime H
il

Wﬁawmﬁmmﬁm %mwﬁuf-ﬁ.
T B T e .%m—mﬁﬁaﬁ
(©)

3T & el F amifrs ﬁﬁﬁr&:@n%m T ) 2 oy

e T

. Sy : device can store max
i3 hof the following storage

121 Whicho

imum amount of datg9
y disk
(A) Flopp

(B) Compact digk
(D)  Hard disk
ical disk
© Dpucall ted : #
tion not attemp R %ET@TT{W
i —— ® e o
( W%ﬂéﬁ (D) =i foms
Hifterer |
() sHafmyy

ingi 17
king in exce
ks R for spell cheg]
i following is used
122 Which of the

P
MR TYE S Y i —
Fs5

(B) Fé6
_ (D) F4
= q : dsheet?
(E) Quest‘iclnnntattemptedf ST nt system date in spr?-ﬂ%‘?
ich of th, following function displays ““mmﬁﬂimnaﬁfﬁm ?
123 Which o e : s i
e ® day [ ]
) Today{} (D) Today
(©) Today @
) Question Mot attempted / 31w wey
124wy,

i 1?
cessing too
ing in word pro
ich of the Fullc-wing is NOT a character formatting

(B) Underline
Alignmeny (D)  Font colour
(C) Effects
(E) Questiop Ot attempted & :
PRI 3 i P AT st g e &
(B) 5= Thell
() it ~BT T
© activities is called-
€) St tion
125 Th}e tnunetary :;timme iven by Government for pr;;;‘luc Quota
4 Subgig, : ED) ank
(v) Licence Eﬁmm%:-
() Questioy 10t atter
Pted aTfefes g
G *Fﬂqﬁmﬂm?ﬂmw ®) 3}&
© Wamﬁq .
& ST gy
517 26
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j26 Heating the sulphide ores in the presence of excess of air is called:

(A) Roasting (B) Reduction \0
© Electrolysis Lo (D) Calcination I}i}
(E) Question not attempted woff
a3 e gt o e s A o G 2
Wi @ (5 o, ~
() YT TTEH lf ) _ﬁm%ﬁﬁﬂﬁ)r’
() smEfEwE
127 Anodising is: s 4 L{‘f
(A) forming a thick oxide layer on the metal surface ;}!]
(B) depositing a layériof zinc on metal surface <
(C) oiling the metal ggrfacc t:i
(D) painting the metal’surface ™
(E) Question not attfre:f_ﬁpted i
{M{'rrrgmwtrhé’r sigaEe Frww FffaF  (B) mmwﬁmeﬁﬁ%ﬁ%ﬁﬁm
(C) e T AT ST (D)  HTq &8 FI 9 FHE)

€) wafaws 5
128 The electronic canﬁgulrja};ions of three elements A, B and C are:

A-2,8;B-2,8,7aniC-2,8,2. '

Which of the follnwing gtatcments is true?

(A) Bisametal. (B)

§
(C) Bisanon-metalandCisa metal. (D) A isametal

C is a non-metal.

(E)  Question not attefmpted

el A, B 3fiTC ﬁ%‘f{@ﬁmﬁmﬁm
:]

A-z,s;u-z,s.?aﬁgc-z, 8,28

17164546 17164546 171864

Frerfeafierr & & = @ 5 we €7
A) Bwwamh (B) CumImRY
}efﬁwm%@&;ﬂmmﬁ‘él (D) ATHIH
(E)  sryafa g .
129 Which of the following s the precipitate in the given reaction?
s s . Pt @ o 1 8
NSO, (ag) + BaCl, (eg) —> BaSOs (8) 2NuCl (nq)
(A) BasO,(s) W (B)  BaCly(aq)
—4€J" NaCl (aq) ?,, (D) Na;SO4ag)
Sty | [Ez&;;estion not attgnjpted / argaf bl ’
B T T —
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130 Match List-

I with List-1I :

List-11

(Effect)

Gain of electron

Electron accepting species
Electron loosing species

Loss of electron

I

()

g A

T mEor e arelt i ()

T @ aeht wdftefisr ()
EREFEE IR

a-ILb-IV,c-1,d-1II

List-1
(Reaction/ Reactant)
a Oxidation ¥
b. Reduction 1L
c Reducing agent 1.
d. Oxidising agent V.
qefl-1 3l -1 & gfera shifsg -
-1
NERUEIEE D BN
a. e Ezsica L
b,  HIHSA IL
. S IIL
d. AT V.
Choose the most appropriate answer from the options given below:
F g Pt warfores s Se g ;
(A) a-ILb-I,c-IV,d-1I (B)
./Ecr- a-Lb-IV,c-1I,d - III (D)

(E)
131
below:)

(A) Satpura National Park - Tamil Nadu

(©)
(E)

Kajiranga National Park - Assam

Question not attempted / 3TTTHT T4
Select the incorrecty matched pair of National Park and the state. (Choose the most appropriate option fro

Question not attempted

(B)
(D) Bandipur National Park - Karnataka

a-IV,b-Lc-II,d-1I

Kevla Dev National Park - Rajasthan

TR a4 U9 & e s &1 =9 w4 (Fe 7 & 99 399w e =)

HAgST T FaH-afHeTg
(C) =it Ui IemH-3/w

St u

(E)

(B)
(D) &Y U -

AT T IH-OTH

132 Select the method used for calculation of real value of good seed.
Germination percent x Purity percent

(A)

(B)
100 Purity percent x100
2 (Germination percent + Purity percent) Purity perc
(©) percent
100 (D) Germination percent e
(E)  Question not attempted
Waﬁfﬁa#mﬁmm%w&mﬂ#%ﬁmﬁaﬁﬂﬁﬁﬁﬁﬁﬁﬁm
) FFT IR X ypan whver 3igTr whvea
B) ~ ——————=x 10
100 ST WideT
(o 2 (ST ST + gprem wftaw) *D/_"._—_E"”’m‘“ x 100
100 ST Siftrar
EB)  srqafa s
S17] ﬁ 28 [ p.T.0
|

27

Germination percent




i o o ' in ped
3 Select the incorrectly matched combination of characters and contrasting traits studicd i Mendel

p]aI'IT-r
(A) Seed Shape : Round / Wrinkled

() Pod. Colour : White/ yellow

13
(B)  Flower position : Axial / terminal

E) Question not attempted D) Seed Colour: Yellaw / greet
(

.:7”‘“” 7 T T e e afte o 8 e e ey et 24 gfr)
)

s il S ®) ey s e
(©) Feft &1 4T : TE / dfer (D) o e
(E) aﬁﬁﬁ‘ﬂ b
34 Anbio-active molecule, , that is used as an immunosuppressive agent in orgﬂﬂ—transplanl patients,
produced by a fungus.
(A) statins (B) cyclosporin A
(C) lacticacid (D) streptokinase
(E) Question not attempted
bR e sin v i sl Rt s e i afie 4 s 2, T
TAqTE Uek Sheleh § feRAT SITaT 2 EK/ \
(A) wiFw by wrEEAENE-T
(C) e T (D) FEFEES
(E) i 9
135  Select the incorrectly matched pair of plant and its economically important part.
(A) Papaver somniferum - fruit (B) Emblica officinalis - fruit
(C) Cinchena officinalis -Bark (D) Centella asiatica - Bark

36  Choose the most appropriate Engli

1

§17) ﬁ o 29

(E) Question not attempted
YTz S g STl TR ST ST 35 T er ATt S L ZREI
(A) Y EEEE - we TR SRR - e

(€) frrm sirhifafm - @ (D) e ufirufe - BT
(E) e aa

sh word for the given word- i,
(A) Seizure (B) Regulation
Abatement I:D} Deferred

(E)  Question not attempted i
37 Choose the most appropriate word 10 complete the following sentence:

An inscription on a tombstone is termed 85—
(A) (B) anepitaph

a grave
A — (D) acemetery

(E)  Question not attempted .
M}%“ the word opposite in meaning 10 ERUDITE
A)

Illiterate (B) Crude

(C)  Learned (D) Boring

(E)  Question not attempted

[Prq
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139

140

141

142

143

. P ‘ o]
In which Indian state the rare butterfly *Neptis Philyra® has been discovered?

(A)  Arunachal iP;j;ldcsh (B)  Himachal Pradesh

(C)  Jammu nnd‘_‘_{mhmir (D)  Uttarakhand

(E)  Question 11;1;i'-5|ltc|11|1|c:l ‘_JZ:
geiw foraett “Afted FFetrrr o e v % Fore qroer o oy 8 0 Pt
(A)  SrevrerE SR ®) femmmn
© e sheari upf” FEEE e
(E) o, ot
Who has become i|1;3 first woman scientist to win the *G. D, Birla Award’ fuﬁ@icntiﬁc research?
(A)  Dr. Aditi Sie?_:De (B) Dr. Rani Chattcr_ie%—i
(C) M. Fatima Bibi (D) Sipra Guha Mukherjee
(E)  Question nptattempted s
SR ST 3 R it < forve e St Al weeh g A EH T
(A) = sl ae ., Tt TS %rf
©)  w.wEE D) st
(E) sFgakaws_, i

Out of 2000 employees in an office, 52% are graduates. 60% of the cmployee?iirc male and 50% of ther

employees are gl'Eil'I:tll._lalES. Then how many female employees are graduates? ©

2000 FH=R AT FraterT F 52% = ¥ 60% FHERT 767 & 3T 50% ow et waw #) feed §
L

FHEH e 82 i?‘_:

(A) 430 = NG 440 v
(C) 460 W (D) 410 E:
(E)  Question n!i_ﬁ'_‘httemptcd / S wr :E}
The value of Iogggjf logaq9 is: i
logg27 + logy;9 FIHH ®: ' ™~
(A) 13/6 = : B) 12 =
©r? oss f: (D) 56

(E)  Question npt pitempted / STARE war \e

In the figure givéntbelow, PQR is a triangle. QR is parallel to PM. If QR;EF' then what is the va®
£LRPM? \o &

faEn Wﬁ‘ﬁ*%@ﬁwﬁl QR , PM ¥ g &) ﬂﬁQR=pR‘%I;|;g:RPMEHTWWW

v~

™~

!

0

S

i)

s

(B) 100° Yo

(€) o95° i (D) 70° i
(E)  Question not attempted / T P 0
§17] ﬁ 28 i [ L
J
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144 Vikram Sarabhai Space Centre is located at-

(A) Thiruvananthapuram (B)  Sriharikota
(C) Hyderabad (D) Bengaluru
(E) Question not attempted

HRTATE T He (3fafte ) e -

ﬁiﬁq?lgtq\/ (B)
(C) TeqEE '\9{ ﬁngg:
(E) Hﬂﬂkﬁ RS

145 A coil of wire has an area of 600 sq cm and has 500 turns. If it carries 1.5 A current,

moment is -
(A) 15Am? (B) 30 Am?
(C) 45Am’ (D) 10 Am?

(E) Question not attempted

its magnetic dipole

T 500 ST Y A T oS! A ﬁﬂqﬁfﬁﬂﬂaﬁﬁiﬁ%mﬁ@"ﬂa_-ﬂﬁ 1.5 &fﬁmagamwma’m%,ﬂ’fw

T SEEh Tayd AT @ -
(A) 15 i"ﬁﬂm‘-’ﬁa ®) 30 tffmmdee
(C) 45 s @) 10 e
(E) 3uia 94
146 When the cornea is not spherical in shape, the defect of vision in this eye is called -
(A) Hypermcu-opla ) (B) Asngmansm
(C) Cataract v (D) Myupm

(E) Question not attempted - .
I AT (EeSHEe) e e BT 2, A g W 3 3 gfl o 2 2

(A) @G (B) ufizifesy (sfigEan)
Sz (g ) i )
(E) SFuia 94
147 Hfug ¥ fafea suat &-
o £ ® q
(c) 3 (D) &
(F) @i 9d
148 ° * 3 yages T A B !
; 4 (B) Ef |
() ™ ’ (D) 9 -
(E)
149 ﬁqﬁmﬁﬁmﬁmaﬁ:ﬁ?
(A) WA /(.H')/mﬁa:r
(€ 7= (D) Wdw
(E) fuitaqq |

150 e 3 STaT o for 3 ferer e e B 6 '.
5= i3y
1S
) HEiE ud :

S17] ﬁ 31
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